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Section A

This section has a possible 20 marks.

Answer all questions in the spaces provided.

1(a) Which one (1) of the following pieces of equipment would be used to measure
oxygen saturation?

A

[1 mark]

Pulse oximeter
Sphygmomanometer
Thermometer

Watch

Answer

1(b) The mouth / nose, pharynx and epiglottis are structures of the respiratory system.

Identify three (3) other structures of the respiratory system and explain the
function of one (1) of these structures:

[5 marks]

Explanation
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1(c)

Discuss why it is important to gain consent prior to obtaining physiological
measurements.

[6 marks]
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1(d) Changes in health, care planning and assisting diagnosis are three reasons for the
accurate and timely recording of information.

Identify two (2) other reasons and explain one (1) of these reasons.
[4 marks]

1

2

Explanation

1(e) Stress and medication are factors that can affect physiological measurements.

Name four (4) other factors that can affect physiological measurements.
[4 marks]
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Section B

This section has a possible 20 marks.
Answer all questions in the spaces provided.

Scenario

Oscar is a 27-year-old man who is employed as a teacher at a further education college.
He has recently been experiencing a number of problems regarding his digestion.
Following a series of medical investigations, he has been diagnosed with Crohn’s disease.

2 (a) Discuss the possible impact of Crohn’s disease on Oscar’s wellbeing.
[12 marks]
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2 (b) One type of digestion is mechanical.

Identify the other type of digestion.
[1 mark]

2 (c) Name two (2) digestive enzymes and describe one (1) of these enzymes.
[4 marks]

1

2

Description

2 (d) Identify and explain the structure and{ or function of one (1) section of the small
intestine.
[3 marks]
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Section C

This section has a possible 20 marks.
Answer all questions in the spaces provided.

Scenario

Emily is a 42-year-old nurse who works in a busy Accident and Emergency department.
She has recently started to feel pain in her joints, particularly in her knees. Following
hospital investigations, she has been diagnosed with arthritis.

3(a) Discuss the possible impact of arthritis on Emily’s social and emeotional wellbeing.
[9 marks]

10
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3 (b)

The axial skeleton is one of two parts of the skeletal system.

|dentify the other part of the skeletal system and describe it.

Identification

[4 marks]

Description

11
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3(c) Name one (1) long bone in the leg and explain the structure and / or function of
long bones.
[4 marks]

Long bone

Explanation

3 (d) Storage of calcium and production of blood cells are two functions of the skeletal
system.

Identify three (3) other functions of the skeletal system.
[3 marks]

12
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Section D

This section has a possible 20 marks.
Answer all questions in the spaces provided.

4 (a) Which one (1) of the following organs of the body produces insulin?

Kidney

A

B Lung
C Pancreas
D

Spleen

Answer

14

[1 mark]

V3dV SIHL NI 311dM 1LON 0Od

V3dV SIHL NI 311dM 1ON Od



DO NOT WRITE IN THIS AREA

DO NOT WRITE IN THIS AREA

4 (b)

Explain the process of osmoregulation.

[6 marks]
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4 (c) Identify two (2) functions of chemoreceptors and explain one (1) of these
functions.
[4 marks]

1

2

Explanation

4 (d) When the external temperature reduces, thermoregulationis used to keep the
body warm.

Identify three (3) mechanisms that are used to keep the body warm and explain
the function of one (1) of these mechanisms.
[5 marks]

2

3

Explanation

16
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4 (e) The failure of thermoregulation has two possible effects.
Name the two (2) possible effects of a failure in thermoregulation and describe the
symptoms of one (1) of these effects on the human body.
[4 marks]

1

2

Description

This is the end of the external assessment.
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To be completed by the examiner

Question | Mark | Question = Mark
1(a) 3 (a)
1(b) 3 (b)
1(c) 3(c)
1(d) 3 (d)
1(e) 4 (a)
2 (a) 4 (b)
2 (b) 4 (c)
2(c) 4 (d)
2(d) 4 (e)

TOTAL
MARK
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